Quadratic Graph (HKMO Classified Questions by topics)
1990 HG7

y
fd’*;"f‘fi"lyzxz—4x—%ﬁv§]u’%ﬂ X-Bh* AR B o A
£ C et BB g > £ AABC i ff o

The graph of the parabola y= X2 —4X—% cuts

the x-axis at 4 and B (figure 1).
If C is the vertex of the parabola, C
find the area of A4BC.
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The following shows the graph of y = ax? + bx + ¢ . 5 /\
/
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G10.1 J ¢ eniE o Find the value of ¢ .

G10.2 F g HiE - Find the value of @ .
G10.3 J b & o Find the value of b .
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The following shows the graph of

y=px2+5x+p.A:(O,—2),B:(%,Oj,

C=(2,0),0=(0,0).
G6.1 F p =i - Find the value of p.
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If 9 is the maximum value of y, find the value of m .
m

G6.3 Let R be a point on the curve such that OMRN is a square.
If r is the x-coordinate of R, find the value of » .

A

XWRLABE V-8 OMRN 2 - F33,0 % Reix &4 5 r» K7y eh
& o
G64 - AF L 22U BERhEESDE S iEd BApIIAEE R Fo

C:\Users\85290\Dropbox\Data\My Web\Competitions\HKMO\Classified Questions\Algebra\Equation\Quadratic_equation\Quadratic Graph.docx

Created by Mr. Francis Hung
7
s
A straight line with slope = —2 passes through the origin cutting the curve
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at two points £ and F. If ’ is the y-coordinate of the midpoint of EF, find
S

the value of s .
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In the figure, the quadratic curve y =f(x) cuts the x-axis at the
two points (1, 0) and (5, 0) and the y-axis at the point (0, —10). 71(;
Find the value of p .
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Let the curve y = x> — 7x + 12 intersect the x-axis at points 4 and B, and intersect
the y-axis at C. If ¢ is the area of AABC, find the value of ¢ .
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Given that £, x1 and x> are positive integers with x; < x». Let 4, B and C be three
points on the curve y = kx?, with x-coordinates being —xi, x1 and x respectively.
If the area of AABC is 15 square units, find the sum of all possible values of & .
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3) #Za:IHBFEFER y=-10* C~-DAag> H?¢ CD=16H = -

F g i
Lety = px? + gx + r be a quadratic function. It is known that

(1) The axis of symmetry of y is x =2016 .
(2) The curve cuts the x-axis at two points 4 and B such that AB =4 units .
(3) The curve cuts the line y =—10 at two points C and D such that CD =16 .

Find the value of ¢ .
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125 1992 FG10.1 | 1992 FG10.2 | 1992 FG10.3 | 1993 FG6.1
— 3 -2 5 -2
8
1993 FG6.2 1993 FG6.3 1993 FG6.4 1996 HG1 2000 FG2.3
8 1 -2 6 6
2008 HGY 2016 HG6
6 672
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